g é:;? @ a p tillegg av brek (riktig brek) (feil brok)

StudentName: ExamDate: ExamScore:
7 1 1 5
— 4+ - = — 4 - =
2 2 8 4
7 3 3 7
—+ = — 4 - =
3 8 7 2
6 2 1 5
7 5 7 2
5 5 1 7
9 6 5 3
6 5 6 5
4 4 8 9
2 6 5 6
6 5 3 4
1 1 6 2
4+ - = — 4 - =
9 9 4 7
5 3 6 3
4+ = — 4+ - =
9 4 5 2
3 3 3 3
4+ = — 4+ - =
5 9 2 9
7 1 7 7
-+ - = — 4 — =
2 6 6 2
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g gﬁ @ a ﬁ tillegg av brek (riktig brek) (feil brak)

StudentName: ExamDate: ExamScore:
7 1 1 5 11 3
—+-=4 S+I=— =12
2 2 8 4 8 8
7 3 65 17 3 7 55 13
4= — =) T4 o= =3
3 8 24 24 7 2 14 14
6 2 44 9 1 5 37 9
=== S+Z="-22L
7 5 35 35 7 2 14 14
5 5 25 7 1 7 38 8
T o= =22
9 6 18 18 5 3 15 15
6 5 11 3 6 5 47 11
4= — 2= —+i==]—
4 4 4 4 8 9 36 36
2 6 23 8 5 6 19 1
e T4 = =3
6 5 15 15 3 4 6 6
1 1 2 6 2 25 11
—+ - =— -+t -=—=1—
9 9 9 4 7 14 14
5 3 47 11 6 3 27 7
Stl= =1 —+2="=2L
9 4 36 36 5 2 10 10
3 3 14 3 3 11 5
il e
5 9 15 2 9 6 6
7 1 11 2 7 7 14 2
—+-=—=3- -+ —=—=4-
2 6 3 3 6 2 3 3
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